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lllustrations

1. Write the following decimal numbers as number names.

34.56

° Watch Video Solution

2. Write the following decimal numbers as number names.

4.778

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bwGDcqHcvqDV
https://dl.doubtnut.com/l/_QNY0CQYZjFEj

3. Write the following decimal numbers as number names.

87214

° Watch Video Solution

4. Write the following decimal numbers as number names.

26346

° Watch Video Solution

5. Find the place value of 6,9 and 4 in 358.694.

° Watch Video Solution

6. Find the place value of the following in the number 829.435

4

e


https://dl.doubtnut.com/l/_QNY0CQYZjFEj
https://dl.doubtnut.com/l/_PRwl8QjBwUe0
https://dl.doubtnut.com/l/_392awsQS8Mq6
https://dl.doubtnut.com/l/_G5IlYyhKteZb
https://dl.doubtnut.com/l/_RvmpGzan1qHt

| ¥ vvatcn video solution

7.Find the place value of the following in the number 829.435

3

° Watch Video Solution

8. Find the place value of the following in the number 829.435

5

° Watch Video Solution

9. Write the following as decimal :

Twenty and five-tenths.

° Watch Video Solution



https://dl.doubtnut.com/l/_RvmpGzan1qHt
https://dl.doubtnut.com/l/_fS9xpuhO9C0R
https://dl.doubtnut.com/l/_xBWerodcfO5j
https://dl.doubtnut.com/l/_IF4ra2XNVzW5

10. Write the following as decimal :

Five ones, two-tenths and four-hundredths.

° Watch Video Solution

11. Write the following as decimal :

Three hundred two ones and six hundredths.

° Watch Video Solution

12. Write the following as decimal :

Two ones and eight thousandths.

° Watch Video Solution



https://dl.doubtnut.com/l/_KLvN0BBkMtmk
https://dl.doubtnut.com/l/_RB3w8dRvTy1p
https://dl.doubtnut.com/l/_F1ekkfk8NYjp

13. Write the following as decimals :

-] o -
— . -
— o
T
- =
Tens Ones lenths

° Watch Video Solution



https://dl.doubtnut.com/l/_8H5kx8a4pv6F

14. Write the following as decimals :

Hundreds Tens
Erd
2
—_ ]
— ES
Tenths Hundredtis

HnHn

° Watch Video Solution

15. Write the following as decimals :

6
4 2+ —
0+ +10

° Watch Video Solution



https://dl.doubtnut.com/l/_UMaIemowUTgI
https://dl.doubtnut.com/l/_IQOPfNbHNfyz
https://dl.doubtnut.com/l/_chTfPPBLqeDH

16. Write the following as decimals :

800 + 20 + S + 1
10 100

° Watch Video Solution

17. Write the following as decimals :

20+5 + ) + 0
10 1000

° Watch Video Solution



https://dl.doubtnut.com/l/_chTfPPBLqeDH
https://dl.doubtnut.com/l/_zY5o0pQdYaQY

18. Give a decimal for the shaded squares.

o Watch Video Solution



https://dl.doubtnut.com/l/_J5MRpsFTjaB7

19. Give a decimal for the shaded squares.

o Watch Video Solution

20. Find the vlaues of P,Q,R,S and T on the given number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_U7x92CGcMHqL
https://dl.doubtnut.com/l/_nfamJvovf3Rt

21. Which decimal is greater ?

82.123 or 68.21

o Watch Video Solution

22. Which decimal is greater ?

0.432 or 0.598

o Watch Video Solution

23. Which decimal is greater ?

32.064 or 32.011

o Watch Video Solution

24. Convert 81,4.32 and 7.691 into like decimals.

o Watch Video Solution



https://dl.doubtnut.com/l/_5UzW5YXIZ9r1
https://dl.doubtnut.com/l/_TlfXP4DR5KkZ
https://dl.doubtnut.com/l/_iweUgPGROsN1
https://dl.doubtnut.com/l/_CLYU2KbNVMU2

25. Arrange the following in ascending order :

32.435,32.336,32,32.003,32.3

o Watch Video Solution

26. Arrange the following in descending order :

65.6,65.604,65.064,65,65.664

o Watch Video Solution

27. Convert the following fractions into decimals.
13
5

o Watch Video Solution



https://dl.doubtnut.com/l/_CLYU2KbNVMU2
https://dl.doubtnut.com/l/_8c5nWstBj9wq
https://dl.doubtnut.com/l/_ZYjUyCA9jj7e
https://dl.doubtnut.com/l/_5eKIVx8sSTX3

28. Convert the following fractions into decimals.
3

4

o Watch Video Solution

29. Convert the following fractions into decimals.
25
2

o Watch Video Solution

30. Convert the following decimals into fractions .

0.06

o Watch Video Solution

31. Convert the following decimals into fractions .

9.645



https://dl.doubtnut.com/l/_hBpYM0Y6W3rg
https://dl.doubtnut.com/l/_S2booRNKCuwW
https://dl.doubtnut.com/l/_nCMUYyIWzjD7
https://dl.doubtnut.com/l/_LySfzvDTIO65

| & Watch Video Solution

32. Convert the following decimals into fractions .

7.2

o Watch Video Solution

33. Convert the following into rupees.

560 paise

o Watch Video Solution

34. Convert the following into rupees.

50 rupees 80 paise

o Watch Video Solution



https://dl.doubtnut.com/l/_LySfzvDTIO65
https://dl.doubtnut.com/l/_ybwoUj1WOcnp
https://dl.doubtnut.com/l/_CiDC7AS23VJL
https://dl.doubtnut.com/l/_rE05bQk9EonZ

35. Convert the following as instructed.

2004 cm intom

o Watch Video Solution

36. Convert the following as instructed.

8 km 42 m into km

o Watch Video Solution

37. Convert the following as instructed.

428 mm into cm

o Watch Video Solution

38. Convert the following into kg.

3840 g



https://dl.doubtnut.com/l/_mzaFWwc4ia9v
https://dl.doubtnut.com/l/_T18aZRlRWUmF
https://dl.doubtnut.com/l/_Qw5qRx6gxI9w
https://dl.doubtnut.com/l/_hyXC5wfHNb5X

| &J Watch Video Solution

39. Convert the following into kg.

52 kg 50g

o Watch Video Solution

40. Add the following decimals.

2.237 + 0.2113 + 5.5664

o Watch Video Solution

41. Add the following decimals.

9.176 + 1.66

o Watch Video Solution



https://dl.doubtnut.com/l/_hyXC5wfHNb5X
https://dl.doubtnut.com/l/_hLv2vwM2tVXJ
https://dl.doubtnut.com/l/_4mmXB7c6lxzL
https://dl.doubtnut.com/l/_IO0fUN2mLBKH

42. Add the following decimals.

2.3667 + 2.57 + 3.22

o Watch Video Solution

43. Bala had Rs 69.24. His father gave him Rs 100.48 and his mother gave

Rs 50.40. How much amount he has ?

o Watch Video Solution

44, Solve :

Subtract 1.7609 from 6.935

o Watch Video Solution

45, Solve :

Subtract 8.61 from 9.9603



https://dl.doubtnut.com/l/_aokYhDrRS4B7
https://dl.doubtnut.com/l/_XPuPxMyzAfRU
https://dl.doubtnut.com/l/_ZHw82Gpd8k00
https://dl.doubtnut.com/l/_BnEXqSwRNaOh

| &J Watch Video Solution I

46. Solve :

Subtract 2.8536 from 3.22

o Watch Video Solution

47. Priya bought 5.25 kg of rice. She consumed 1.73 kg of rice. How much

rice remains with her ?

o Watch Video Solution

Solved Example

1. Write the following numbers in the place value chart ( table).

142.76

° Watch Video Solution



https://dl.doubtnut.com/l/_BnEXqSwRNaOh
https://dl.doubtnut.com/l/_IgZTCiO6umc1
https://dl.doubtnut.com/l/_FAY4nBWm8ZSZ
https://dl.doubtnut.com/l/_kx2yDzFHH7oT

2. Write the following numbers in the place value chart ( table).

32345

° Watch Video Solution

3. Write the following numbers in the place value chart ( table).

1763.42

° Watch Video Solution

4. Write each of the following as decimals.

Two hundreds five and three hundredths

° View Text Solution

5. Write each of the following as decimals.

Thirteen point one two three

| e


https://dl.doubtnut.com/l/_gfqdnHDs5wvb
https://dl.doubtnut.com/l/_0fRh2pz8pvcV
https://dl.doubtnut.com/l/_dLygDoIApBIa
https://dl.doubtnut.com/l/_Uf1LCpO4WdTm

I & View Text Solution

6. Write each of the following as decimals.

Eight and thirty five thousandths

° Watch Video Solution

7. Sundaram bought a toothpaste for Rs 18.75, soap for Rs 6 and shoe
polish for Rs 12.50. He gave a fifty rupee note to the shopkeeper. Find the

money he got back.

° Watch Video Solution

8. Write the decimal numbers represented by the points AB and C on the

number line.

| ° Wiak A \tAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_Uf1LCpO4WdTm
https://dl.doubtnut.com/l/_u2Yox1RKDmdy
https://dl.doubtnut.com/l/_bJy04htVkjeg
https://dl.doubtnut.com/l/_UsfZ8uTBALc9
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9. Compare the following :

63.84 and 57.98

° Watch Video Solution

10. Compare the following :

27.04 and 27.10

° Watch Video Solution

11. Compare the following :

82.438 and 82.434

° Watch Video Solution



https://dl.doubtnut.com/l/_UsfZ8uTBALc9
https://dl.doubtnut.com/l/_AixYBddtsgPH
https://dl.doubtnut.com/l/_GlGZqP5uqj7V
https://dl.doubtnut.com/l/_t2tVdFvwsLXF

12. Compare the following :

91.109 and 91.121

o Watch Video Solution

13. Write each of the following as decimals.

5 8
300+60+9—|—1—0—|—r.0

o Watch Video Solution

14. Write each of the following as decimals.

2 6
700 + 9 + 10 + 1000

o Watch Video Solution

15. Write each of the following as decimals.

8 N 5 . 5
10 100 1000



https://dl.doubtnut.com/l/_imzanPy6DWqh
https://dl.doubtnut.com/l/_1T2g26P0GtQx
https://dl.doubtnut.com/l/_KDbzTfbCNFj7
https://dl.doubtnut.com/l/_zXGMGEEX3MzX

| & Watch Video Solution

16. Write each of the following as decimals.

1
4+ —
20 +4 + 100

o Watch Video Solution

17. Using decimals, express:

10cm 6mm as cm

o Watch Video Solution

18. Using decimals, express:

108 cm as m

o Watch Video Solution



https://dl.doubtnut.com/l/_zXGMGEEX3MzX
https://dl.doubtnut.com/l/_kI4rAv75oevi
https://dl.doubtnut.com/l/_lbr1FkuDlITP
https://dl.doubtnut.com/l/_SrPMDFQpaFhW

19. Using decimals, express :

Rs 5 and 40 paise as rupee

° Watch Video Solution

20. Using decimals, express:

Rs 50 and 18 paise as rupee

° Watch Video Solution

21. Shweta travelled 12 km 220m by bus, 8 km 485m by car and the rest

760m she walked. How much distance did she travel in all ?

° Watch Video Solution

22. Write the following decimals in expanded form.

2.75

| e |


https://dl.doubtnut.com/l/_48shGPfbSrmg
https://dl.doubtnut.com/l/_lMg1wlTDwJeW
https://dl.doubtnut.com/l/_yPph3Lj1paeR
https://dl.doubtnut.com/l/_Kc9vR5Tdgv4z

| & Watch Video Solution

23. Write the following decimals in expanded form.

542344

o Watch Video Solution

24. Write the following decimals in expanded form.

76.08

o Watch Video Solution

25. Write the following decimals in expanded form.

1563.704

o Watch Video Solution



https://dl.doubtnut.com/l/_Kc9vR5Tdgv4z
https://dl.doubtnut.com/l/_IVVWitDL9Oiq
https://dl.doubtnut.com/l/_qxCtsNveUh4o
https://dl.doubtnut.com/l/_taQ2p33tG73W

26. Convert the following fractions into decimals.

85
1000

o Watch Video Solution

27. Convert the following fractions into decimals.

212
250

o Watch Video Solution

28. Convert the following fractions into decimals.

4

5

o Watch Video Solution

29. Convert the following fractions into decimals.

7
25



https://dl.doubtnut.com/l/_EY9wiVhmeWc4
https://dl.doubtnut.com/l/_wuWKn5L02pgY
https://dl.doubtnut.com/l/_vldfCQ0U7lmk
https://dl.doubtnut.com/l/_l6xUJRfSY47u

| &J Watch Video Solution

30. Convert the following decimals into fractions.

120.04

o Watch Video Solution

31. Convert the following decimals into fractions.

9435

o Watch Video Solution

32. Convert the following decimals into fractions.

15.012

o Watch Video Solution



https://dl.doubtnut.com/l/_l6xUJRfSY47u
https://dl.doubtnut.com/l/_8kKhUbmaApnb
https://dl.doubtnut.com/l/_ZBDb5Miy6BUI
https://dl.doubtnut.com/l/_mzVdeHrUTdyL

33. Convert the following decimals into fractions.

0.75

° Watch Video Solution

34. Tanuj walked 862 km on Monday, 7.05km on Tuesday and some
distance on Wednesday. If he walked 21015m in three days, how much

distance did he walk on Wednesday?

° Watch Video Solution



https://dl.doubtnut.com/l/_9gggW64zI9dB
https://dl.doubtnut.com/l/_hXfPzNohb7RX

35. Give a decimal for the shaded part.

° Watch Video Solution



https://dl.doubtnut.com/l/_UpOMWHrqpnXf

36. Give a decimal for the shaded part.

° Watch Video Solution



https://dl.doubtnut.com/l/_y54JyqMTBsSo

37. Give a decimal for the shaded part.

o Watch Video Solution

38. Write the place value of 6 in the following decimal numbers.

28.63

o Watch Video Solution



https://dl.doubtnut.com/l/_octJYGtE2NiW
https://dl.doubtnut.com/l/_Mao8CUA3RvAG

39. Write the place value of 6 in the following decimal numbers.

15.16

° Watch Video Solution

40. Write the place value of 6 in the following decimal numbers.

8.036

° Watch Video Solution

41. Write the following as numbers.

1|
7
|

&
i

L ]

Tens Ones Tenths



https://dl.doubtnut.com/l/_Mao8CUA3RvAG
https://dl.doubtnut.com/l/_Cl5P39X27P4O
https://dl.doubtnut.com/l/_e5UU830lGc1z
https://dl.doubtnut.com/l/_ytb64sxJZHv3

| ° Watch Video Solution

42. Write the following as numbers.

Hundreds Tens lenths

° Watch Video Solution

Ncert Section Exercise 8 1


https://dl.doubtnut.com/l/_ytb64sxJZHv3
https://dl.doubtnut.com/l/_VZQLaAhE6qKB

1. Write the following as numbers in the given table.

(a)

mm

Tens Ones Tenths
{b)
=
_ =
o
Hundreds Tens Tenths
Hundreds Tens | Ones |Tenths
(100) (10) (1) [ 1 ]
10

° Watch Video Solution

2. Write the following decimals in the place value table.

194

° Watch Video Solution



https://dl.doubtnut.com/l/_nGoosYbpLLDS
https://dl.doubtnut.com/l/_Ml6d17oQShZQ
https://dl.doubtnut.com/l/_ODm8LgvbVbeq

3. Write the following decimals in the place value table.

0.3

° Watch Video Solution

4. Write the following decimals in the place value table.

10.6

° Watch Video Solution

5. Write the following decimals in the place value table.

205.9

° Watch Video Solution

6. Write each of the following as decimals :

Seven-tenths

| o WMl L\ dan Ol iklmn


https://dl.doubtnut.com/l/_ODm8LgvbVbeq
https://dl.doubtnut.com/l/_v6xbMH7TtcUM
https://dl.doubtnut.com/l/_SWPsLyJH7naF
https://dl.doubtnut.com/l/_OBn2os8l7F1K
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7. Write each of the following as decimals :

Two tens and nine-tenths

° Watch Video Solution

8. Write each of the following as decimals :

Fourteen point six

o View Text Solution

9. Write each of the following as decimals :

One hundred and two ones

° Watch Video Solution



https://dl.doubtnut.com/l/_OBn2os8l7F1K
https://dl.doubtnut.com/l/_jVzrdt2TfwY1
https://dl.doubtnut.com/l/_2K2RBcDARQ5X
https://dl.doubtnut.com/l/_QLaaKRqjp94a

10. Write each of the following as decimals :

Six hundred point eight

° View Text Solution

11. Write each of the following as decimals :

5
10

° View Text Solution

12. Write each of the following as decimals :

7
3—|—1—O

° View Text Solution

13. Write each of the following as decimals :

1
2 _
00 + 60 + 5 + 10



https://dl.doubtnut.com/l/_RZ6KzHjIvKIQ
https://dl.doubtnut.com/l/_VQaVEjGYDXxD
https://dl.doubtnut.com/l/_bJNcSbJxFk17
https://dl.doubtnut.com/l/_xdD1BC4lg4s3

| & View Text Solution

14. Write each of the following as decimals :

8
70—|—1—O

° View Text Solution

15. Write each of the following as decimals :

88
10

° View Text Solution

16. Write each of the following as decimals :

42
10

° View Text Solution



https://dl.doubtnut.com/l/_xdD1BC4lg4s3
https://dl.doubtnut.com/l/_REukW51iEy7V
https://dl.doubtnut.com/l/_YZxgOq73Vfrj
https://dl.doubtnut.com/l/_tkqsQv5aJloQ

17. Write each of the following as decimals :
3

2

o View Text Solution

18. Write each of the following as decimals :
2

5

o Watch Video Solution

19. Write each of the following as decimals :
12
5

o Watch Video Solution

20. Write each of the following as decimals :

33
5



https://dl.doubtnut.com/l/_RYridsX6f6Lb
https://dl.doubtnut.com/l/_yTr42BrcTFuK
https://dl.doubtnut.com/l/_V6p5U6E5qUzp
https://dl.doubtnut.com/l/_ngo5iuGW3uTB

| & Watch Video Solution I

21. Write each of the following as decimals :

41
2

o Watch Video Solution

22. Write the following decimals as fractions.Reduce the fractions to
lowest form.

0.6

o Watch Video Solution

23. Write the following decimals as fractions.Reduce the fractions to
lowest form.

2.5

o Watch Video Solution



https://dl.doubtnut.com/l/_ngo5iuGW3uTB
https://dl.doubtnut.com/l/_v2qwpOr6q8kE
https://dl.doubtnut.com/l/_2sc3jsjLhMuP
https://dl.doubtnut.com/l/_5Cu43e6P89tE

24. Write the following decimals as fractions.Reduce the fractions to
lowest form.

1.0

° Watch Video Solution

25. Write the following decimals as fractions.Reduce the fractions to
lowest form.

3.8

° Watch Video Solution

26. Write the following decimals as fractions.Reduce the fractions to
lowest form.

13.7

° Watch Video Solution



https://dl.doubtnut.com/l/_p6F3bfD7M3xS
https://dl.doubtnut.com/l/_EDxRXhmInysX
https://dl.doubtnut.com/l/_6kxSrX3tWN6k
https://dl.doubtnut.com/l/_hRHG0GO0nR0g

27. Write the following decimals as fractions.Reduce the fractions to
lowest form.

21.2

° Watch Video Solution

28. Write the following decimals as fractions.Reduce the fractions to
lowest form.

6.4

° Watch Video Solution

29. Express the following as cm using decimals.

2mm

° Watch Video Solution



https://dl.doubtnut.com/l/_hRHG0GO0nR0g
https://dl.doubtnut.com/l/_KF8OfTcKhBA7
https://dl.doubtnut.com/l/_U3gphscPqdE2

30. Express the following as cm using decimals.

30mm

o Watch Video Solution

31. Express the following as cm using decimals.

116mm

o Watch Video Solution

32. Express the following as cm using decimals.

4cm 2mm

o Watch Video Solution

33. Express the following as cm using decimals.

162 mm



https://dl.doubtnut.com/l/_C5HJm3TrNi3e
https://dl.doubtnut.com/l/_SiOxYVUJEoxm
https://dl.doubtnut.com/l/_YfnCWjhD1elL
https://dl.doubtnut.com/l/_ci2tbF4KU0Mc

l & Watch Video Solution J

34. Express the following as cm using decimals.

83mm

° Watch Video Solution

35. Between which two whole numbers on the number line are the given
numbers lie?

Which of these whole numbers is nearer the number?

— >
4 56 7 B 9 W 0 12

0.8

° Watch Video Solution

36. Between which two whole numbers on the number line are the given

numbers lie?


https://dl.doubtnut.com/l/_ci2tbF4KU0Mc
https://dl.doubtnut.com/l/_JvCJUsVOEFQM
https://dl.doubtnut.com/l/_91JXgL7Omdrj
https://dl.doubtnut.com/l/_Qi3bVkvnzhcr

Which of these whole numbers is nearer the number?

M L
0 1 2 3 4 56 7 8B 9 10 11 12

5.

° Watch Video Solution

37. Between which two whole numbers on the number line are the given
numbers lie?

Which of these whole numbers is nearer the number?

et b At bt >
01 2 3 4 56 7 8 9 W 012

2.6

o Watch Video Solution

38. Between which two whole numbers on the number line are the given
numbers lie?

Which of these whole numbers is nearer the number?


https://dl.doubtnut.com/l/_Qi3bVkvnzhcr
https://dl.doubtnut.com/l/_ZdPPBwhX3icc
https://dl.doubtnut.com/l/_K5MMkxoXT8Z8

L R e e S B e e
4 5 6 7 8 9 10 11 12

6.4

o Watch Video Solution

39. Between which two whole numbers on the number line are the given
numbers lie?

Which of these whole numbers is nearer the number?

e | |
- I I

0 1

>

T R R —
34 5 6 7 B 9 W 0112

H—I—

9.1

° Watch Video Solution

40.Between which two whole numbers on the number line are the given
numbers lie?

Which of these whole numbers is nearer the number?


https://dl.doubtnut.com/l/_K5MMkxoXT8Z8
https://dl.doubtnut.com/l/_WhPccoynTsV0
https://dl.doubtnut.com/l/_Q94rVY7FC78z

A

—_—

i1 12

-
i

R 4
o
e
w +
.
w] -+
e

o -
= -

49

° Watch Video Solution

41. Show the following numbers on the number line.

(@) 0.2(b)1.9(c)11(d) 2.5

° Watch Video Solution

42. Write the decimal number represented by the points AB,C,D on the

given number line.

&
)

l 1 | 4 |
1 = [
0 Al B 2

° Watch Video Solution



https://dl.doubtnut.com/l/_Q94rVY7FC78z
https://dl.doubtnut.com/l/_yWZBHsRKyr09
https://dl.doubtnut.com/l/_PmxEmX7GK10j

43.The length of Ramesh's notebook is 9cm 5mm. What will be its length

incm ?

° Watch Video Solution

44.The length of a young gram plant is 65mm. Express its length in cm.

° Watch Video Solution

Ncert Section Exercise 8 2

1. Complete the table with the help of these boxes and use decimals to

write the number.


https://dl.doubtnut.com/l/_i860oiDMC8m6
https://dl.doubtnut.com/l/_aIjDEQL9H5mM
https://dl.doubtnut.com/l/_sAwrmgy2XljM

(c)

Hundredths | Number
(a) |
(b) i
o] |

o Watch Video Solution

2. Write the number given in the following place value table in decimal

form.


https://dl.doubtnut.com/l/_sAwrmgy2XljM
https://dl.doubtnut.com/l/_JAm98PnliXrq

Hundreds [Tens |Ones|Tenths |Hundredths | Thousandths

00 [(10]|1 | 1 1 25A

10 100 1000
@l o0 o |3 2 5 0
(b) 1 D 2 [ 3 0
| o 3 |0 ]| o 2 5
@l 2 BiE 9 0 2
el 0 1 2 2 3 1

° Watch Video Solution

3. Write the following decimals in the place value table.

0.29

° Watch Video Solution

4. Write the following decimals in the place value table.

2.08

° Watch Video Solution



https://dl.doubtnut.com/l/_JAm98PnliXrq
https://dl.doubtnut.com/l/_TS0qVW0csAlM
https://dl.doubtnut.com/l/_bIzJq3DWJY89

5. Write the following decimals in the place value table.

19.60

o Watch Video Solution

6. Write the following decimals in the place value table.

148.32

o Watch Video Solution

7. Write the following decimals in the place value table.

200.812

o Watch Video Solution

8. Write each of the following as decimals.

4



https://dl.doubtnut.com/l/_B4QgslPRRjjE
https://dl.doubtnut.com/l/_5iLeJhI8JtS9
https://dl.doubtnut.com/l/_M5f6CUDlJGmk
https://dl.doubtnut.com/l/_DFitwM6VaJde

| &J Watch Video Solution

9. Write each of the following as decimals.

5
137 + 100

o Watch Video Solution

10. Write each of the following as decimals.

7 n 6 n 4
10 100 1000

o Watch Video Solution

11. Write each of the following as decimals.

23 + 2 +—6
10 1000

o Watch Video Solution



https://dl.doubtnut.com/l/_DFitwM6VaJde
https://dl.doubtnut.com/l/_9vHZ1OroDoZc
https://dl.doubtnut.com/l/_z4tX8BnMDSzl
https://dl.doubtnut.com/l/_o0AVNDptPwi6

12. Write each of the following as decimals.

9
700+20+5+W

o Watch Video Solution

13. Write each of the following decimals in words.

0.03

o Watch Video Solution

14. Write each of the following decimals in words.

1.20

o Watch Video Solution

15. Write each of the following decimals in words.

108.56



https://dl.doubtnut.com/l/_T5Jij2D0jPbV
https://dl.doubtnut.com/l/_DPuPfdUMDVVu
https://dl.doubtnut.com/l/_RYnHnKP2FJUy
https://dl.doubtnut.com/l/_m74durSxkAhL

| &J Watch Video Solution

16. Write each of the following decimals in words.

10.07

o Watch Video Solution

17. Write each of the following decimals in words.

0.032

o Watch Video Solution

18. Write each of the following decimals in words.

5.008

o Watch Video Solution



https://dl.doubtnut.com/l/_m74durSxkAhL
https://dl.doubtnut.com/l/_rLE6REVt1KGP
https://dl.doubtnut.com/l/_L3icLKdxiuI4
https://dl.doubtnut.com/l/_0qOxRhZEXXGP

19. Between which two numbers in tenths place on the number line does
each of the given number lie?

0.06

° Watch Video Solution

20. Between which two numbers in tenths place on the number line does
each of the given number lie?

045

° Watch Video Solution

21. Between which two numbers in tenths place on the number line does
each of the given number lie? (a) 0.06 (b) 0.45 (c) 0.19 (d) 0.66 (e) 0.92 (f)

0.57

° Watch Video Solution



https://dl.doubtnut.com/l/_45Ek9MvSI8AK
https://dl.doubtnut.com/l/_qymv8IlxSI4C
https://dl.doubtnut.com/l/_a2bCWNyeJGGz
https://dl.doubtnut.com/l/_SSBiTEs1IhTd

22.Between which two numbers in tenths place on the number line does
each of the given number lie? (a) 0.06 (b) 0.45 (c) 0.19 (d) 0.66 (e) 0.92 (f)

0.57

° Watch Video Solution

23. Between which two numbers in tenths place on the number line does
each of the given number lie?

0.92

° Watch Video Solution

24.Between which two numbers in tenths place on the number line does
each of the given number lie?

0.57

° Watch Video Solution



https://dl.doubtnut.com/l/_SSBiTEs1IhTd
https://dl.doubtnut.com/l/_6RPeWefmyRIQ
https://dl.doubtnut.com/l/_tFobZgYlfnmY

25. Write as fractions in lowest terms. (a) 0.60 (b) 0.05 (c) 0.75 (d) 0.18 (e)

0.25 (f) 0.125 (g) 0.066

° Watch Video Solution

26. Write as fractions in lowest terms. (a) 0.60 (b) 0.05 (c) 0.75 (d) 0.18 (e)

0.25 (f) 0.125 (g) 0.066

° Watch Video Solution

27. Write as fractions in lowest terms.

0.38

° Watch Video Solution

28. Write as fractions in lowest terms.

0.96



https://dl.doubtnut.com/l/_DUJ1DW8NcCfX
https://dl.doubtnut.com/l/_11UpE789ZYkJ
https://dl.doubtnut.com/l/_VDMUrsQ6Yadi
https://dl.doubtnut.com/l/_Pji8XgY0FIkx

| & Watch Video Solution I

29. Write as fractions in lowest terms. (a) 0.60 (b) 0.05 (c) 0.75 (d) 0.18 (e)

0.25 (f) 0.125 (g) 0.066

o Watch Video Solution

30. Write as fractions in lowest terms. (a) 0.60 (b) 0.05 (c) 0.75 (d) 0.18 (e)

0.25 (f) 0.125 (g) 0.066

o Watch Video Solution

31. Write as fractions in lowest terms.

0.336

o Watch Video Solution

Ncert Section Exercise 8 3



https://dl.doubtnut.com/l/_Pji8XgY0FIkx
https://dl.doubtnut.com/l/_vpeDkCgLOSAG
https://dl.doubtnut.com/l/_pOkryrWFHfSD
https://dl.doubtnut.com/l/_avUBPg6hOflL

1. Which is greater ?

0.03 or 0.004

o Watch Video Solution

2. Which is greater? (a) 0.3 or 0.4 (b) 0.07 or 0.02 (c) 3 or 0.8 (d) 0.5 or 0.05
(e) 1.23 or 1.2 (f) 0.099 or 0.19 (g) 1.5 or 1.50 (h) 1.431 or 1.490 (i) 3.3 or 3.300

(j) 5.64 or 5.603

o Watch Video Solution

3. Which is greater ?

30or038

o Watch Video Solution



https://dl.doubtnut.com/l/_L9M7gNc3g3P7
https://dl.doubtnut.com/l/_U4kvJPg9cwDL
https://dl.doubtnut.com/l/_SDj2gF8BJKWD

4. Which is greater ?

0.5 or 0.05

o Watch Video Solution

5. Which is greater ?

1.23 or 1.2

o Watch Video Solution

6. Which is greater ?

0.099 or 0.19

o Watch Video Solution

7.Which is greater ?

1.8 or 1.80



https://dl.doubtnut.com/l/_lE40araANcF4
https://dl.doubtnut.com/l/_7jCSNgaVFsd6
https://dl.doubtnut.com/l/_AJswb1iaifNo
https://dl.doubtnut.com/l/_MUYqi3iD37ZP

| & Watch Video Solution

8. Which is greater ?

1431 or 1490

o Watch Video Solution

9. Which is greater ?

3.3 or 3.300

o Watch Video Solution

10. Which is greater ?

5.64 or 5.603

o Watch Video Solution



https://dl.doubtnut.com/l/_MUYqi3iD37ZP
https://dl.doubtnut.com/l/_lbeyO3TpOeLp
https://dl.doubtnut.com/l/_gBDDHjdzv5BP
https://dl.doubtnut.com/l/_IR94UYMU0AMw

11. Make five more examples and find the greater number from them.

o Watch Video Solution

Ncert Section Exercise 8 4

1. Express as rupees using decimals.

5 paise

° Watch Video Solution

2. Express as rupees using decimals.

75 paise

° Watch Video Solution



https://dl.doubtnut.com/l/_8F3Cu9lf6njp
https://dl.doubtnut.com/l/_X7OQUlrpd9JB
https://dl.doubtnut.com/l/_d6L0kg3m4SNg

3. Express as rupees using decimals.

20 paise

° Watch Video Solution

4. Express as rupees using decimals.

7 rupees 83 paise

° Watch Video Solution

5. Express as rupees using decimals. (a) 5 paise (b) 75 paise (c) 20 paise (d)

50 rupees 90 paise (e) 725 paise

° Watch Video Solution

6. Express as metres using decimals.(a) 15 ¢cm (b) 6 cm (c) 2 m 45 cm (d) 9

m 7 cm (e) 419 cm

| e |


https://dl.doubtnut.com/l/_8dbxDXfDm5NN
https://dl.doubtnut.com/l/_Yn67lJLVGhM3
https://dl.doubtnut.com/l/_ahzMcDjIA5RY
https://dl.doubtnut.com/l/_FhExq5V2mWII

| &J Watch Video Solution

7. Express as metres using decimals.

6cm

° View Text Solution

8. Express as metres using decimals.

2m 45 cm

° View Text Solution

9. Express as metres using decimals.

9m7cm

° View Text Solution



https://dl.doubtnut.com/l/_FhExq5V2mWII
https://dl.doubtnut.com/l/_yC4NG6tUJH0T
https://dl.doubtnut.com/l/_EuoKwc9X1UET
https://dl.doubtnut.com/l/_ORynVDhHVVHU

10. Express as metres using decimals.

419 cm

o View Text Solution

11. Express as cm using decimals.

5mm

o View Text Solution

12. Express as cm using decimals.

60mm

o View Text Solution

13. Express as cm using decimals.

164mm



https://dl.doubtnut.com/l/_vuS4eDQU1toB
https://dl.doubtnut.com/l/_LwHJjOvDWfqN
https://dl.doubtnut.com/l/_qH0WfGJZG4az
https://dl.doubtnut.com/l/_Hz3cAQWbgu0c

| & View Text Solution

14. Express as cm using decimals.

9cm 8 mm

° View Text Solution

15. Express as cm using decimals.

93 mm

° View Text Solution

16. Express as km using decimals.

8m

° View Text Solution



https://dl.doubtnut.com/l/_Hz3cAQWbgu0c
https://dl.doubtnut.com/l/_cn7aFIeR2spC
https://dl.doubtnut.com/l/_sUdo2g6tYYKh
https://dl.doubtnut.com/l/_PGX399RZEccv

17. Express as km using decimals.

88m

o Watch Video Solution

18. Express as km using decimals.

888m

o Watch Video Solution

19. Express as km using decimals.

70km 5m

o Watch Video Solution

20. Express as kg using decmials.

2g



https://dl.doubtnut.com/l/_zUXg8cnN7z0M
https://dl.doubtnut.com/l/_N3s30H45nRyb
https://dl.doubtnut.com/l/_ALZTTgzsWKda
https://dl.doubtnut.com/l/_tQ8nODUCp3hH

| & Watch Video Solution

21. Express as kg using decmials.

100g

o Watch Video Solution

22. Express as kg using decmials.

3750g

o Watch Video Solution

23. Express as kg using decmials.

S5kg 8 g

o Watch Video Solution



https://dl.doubtnut.com/l/_tQ8nODUCp3hH
https://dl.doubtnut.com/l/_oFDq7ZgCL21a
https://dl.doubtnut.com/l/_x3uCZ4yXVTxW
https://dl.doubtnut.com/l/_rTj0Ng0vD2Yj

24.Express as kg using decmials.

26kg 50 g

o Watch Video Solution

Ncert Section Exercise 8 5

1. Find the sum in each of the following :

0.007 + 8.5 + 30.08

° Watch Video Solution

2.Find the sum in each of the following :

15+ 0.632 + 13.8

° Watch Video Solution



https://dl.doubtnut.com/l/_D9iGC0G15LEW
https://dl.doubtnut.com/l/_1F9Aihy6jBqO
https://dl.doubtnut.com/l/_YGP0K0suK3mY

3. Find the sum in each of the following :

27.076 + 0.55 + 0.004

o Watch Video Solution

4.Find the sum in each of the following :

25.65 + 9.005 + 3.7

o Watch Video Solution

5. Find the sum in each of the following :

0.75 4 10.425 + 2

o Watch Video Solution

6. Find the sum in each of the following :

280.69 + 25.2 + 38



https://dl.doubtnut.com/l/_5rWFlRT5UDDG
https://dl.doubtnut.com/l/_FzTM09Rkbcr4
https://dl.doubtnut.com/l/_06d0QRUPP0J9
https://dl.doubtnut.com/l/_h4KlQ7KZ9dVW

I & Watch Video Solution

7. Rashid spent Rs 35.75 for Maths book and Rs 32.60 for Science book.

Find the total amount spent by Rashid.

° Watch Video Solution

8. Radhikas mother gave her Rs 10.50 and her father gave her Rs 15.80,

find the total amount given to Radhika by the parents.

° Watch Video Solution

9. Nasreen bought 3m 20cm cloth for her shirt and 2m 5cm cloth for her

trouser. Find the total length of cloth bought by her.

° Watch Video Solution



https://dl.doubtnut.com/l/_h4KlQ7KZ9dVW
https://dl.doubtnut.com/l/_cIN9Bp7LHIcv
https://dl.doubtnut.com/l/_EKiPsQmiIR4I
https://dl.doubtnut.com/l/_qYL4qw8A5kBs

10. Naresh walked 2 km 35 m in the morning and 1 km 7 m in the evening.

How much distance did he walk in all?

° Watch Video Solution

11. Sunita travelled 15km 268 m by bus, 7km 7m by car and 500m on foot

in order to reach her school. How far is her school from her residence?

° Watch Video Solution

12. Ravi purchased 5kg 400g rice, 2kg 20g sugar and 10kg 850g atta. Find

the total weight of his purchases.

° Watch Video Solution

Ncert Section Exercise 8 6



https://dl.doubtnut.com/l/_mduVhTj4wxxq
https://dl.doubtnut.com/l/_iTAFrKcxOiZi
https://dl.doubtnut.com/l/_fzmbcFa74Ovm

1. Subtract : (a) Rs 18.25 from Rs 20.75 (b) 202.54 m from 250 m (c) Rs 5.36

from Rs 8.40 (d) 2.051 km from 5.206 km (e) 0.314 kg from 2.107 kg

o Watch Video Solution

2.Subtract :

202.54 m from 250m

o Watch Video Solution

3.Subtract :

Rs 5.56 from Rs 9.80

o Watch Video Solution

4, Subtract :

1163 km from 3.259 km



https://dl.doubtnut.com/l/_oZU9NBuTx4WQ
https://dl.doubtnut.com/l/_vtTyL1lT0Abz
https://dl.doubtnut.com/l/_QuFcZgKLbBW0
https://dl.doubtnut.com/l/_P6zJKMfEOpMA

| & Watch Video Solution

5.Subtract :

1159 kg from 4.134kg

o Watch Video Solution

6. Find the value of :

9.756-6.28

o Watch Video Solution

7.Find the value of :

21.05-15.27

o Watch Video Solution



https://dl.doubtnut.com/l/_P6zJKMfEOpMA
https://dl.doubtnut.com/l/_9wkuqzfJCgbf
https://dl.doubtnut.com/l/_kfZD3GWnBb80
https://dl.doubtnut.com/l/_CbQEWKE7MfLO

8. Find the value of :

18.5-6.79

° Watch Video Solution

9. Find the value of :

11.6-9.847

° Watch Video Solution

10. Raju bought a book for Rs 35.65. He gave Rs 50 to the shopkeeper. How

much money did he get back from the shopkeeper?

° Watch Video Solution

11. Rani had Rs 18.50. She bought one ice-cream for Rs 11.75. How much

money does she have now?

| e |


https://dl.doubtnut.com/l/_qlBh0g66Vmil
https://dl.doubtnut.com/l/_3ePMCUPXTaR7
https://dl.doubtnut.com/l/_AhmBtZH3177p
https://dl.doubtnut.com/l/_mT2hkcvIX8ju

I & Watch Video Solution

12. Tina had 20 m 5 cm long cloth. She cuts 4 m 50 cm length of cloth

from this for making a curtain. How much cloth is left with her?

° Watch Video Solution

13. Namita travels 20 km 50 m every day. Out of this she travels 10 km 200
m by bus and the rest by auto. How much distance does she travel by

auto?

° Watch Video Solution

14. Aakash bought vegetables weighing 10 kg. Out of this, 3 kg 500 g is
onions, 2 kg 75 g is tomatoes and the rest is potatoes. What is the weight

of the potatoes?

° Watch Video Solution



https://dl.doubtnut.com/l/_mT2hkcvIX8ju
https://dl.doubtnut.com/l/_zI9JX6pK97iH
https://dl.doubtnut.com/l/_d5o9PEmfFni1
https://dl.doubtnut.com/l/_KXDAJLKIJ6dp

Exercise Multiple Choice Questions Level 1

1. The decimal form of 708 .

100 °
A.67.08
B.670.8
C.6.708

D. 670

Answer: A

° Watch Video Solution

2. The fraction form of 045 is



https://dl.doubtnut.com/l/_2UHK7EwJJmfu
https://dl.doubtnut.com/l/_zNWNOPW0gfFp

Answer: B

° Watch Video Solution

3. Two tens and six tenths is expresed in decimals as

A 26

B. 2.06

C.206

D. 26.0

Answer: C

° Watch Video Solution

4. The fraction form of 6.25 is


https://dl.doubtnut.com/l/_zNWNOPW0gfFp
https://dl.doubtnut.com/l/_9y5uFShnB1Pd
https://dl.doubtnut.com/l/_EAxwfbUaIDca

A 625
"~ 10

625
" 100
125

Answer: B

o Watch Video Solution

5. Which model shows 0.04 shaded ?



https://dl.doubtnut.com/l/_EAxwfbUaIDca
https://dl.doubtnut.com/l/_vUSWwUc3MEGH

Answer: D

° Watch Video Solution

6. Express 80mm in cm as

A. 0.8cm

B.80 cm

C.800 cm

D.8 cm


https://dl.doubtnut.com/l/_vUSWwUc3MEGH
https://dl.doubtnut.com/l/_9OwurQfr19Bp

Answer: D

° Watch Video Solution

7. The decimal form of e is

A.62.5

B.0.625

C.6.25

D.0.25

Answer: C

° Watch Video Solution

8. The sum of 609.20 + 163 + 42 is

A. 660.5



https://dl.doubtnut.com/l/_9OwurQfr19Bp
https://dl.doubtnut.com/l/_C04QOWdYPddK
https://dl.doubtnut.com/l/_xxAyjo6TlxKp

B. 667.5

C. 669.5

D.670.5

Answer: B

° Watch Video Solution

is

9
9.The value of 10 + 0 + oo T Tooo

A.10.905
B.10.95
C.10.095

D. 1.095

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xxAyjo6TlxKp
https://dl.doubtnut.com/l/_qO0LMAnlnCE6
https://dl.doubtnut.com/l/_f8eKkQsbSviU

10.1n 16.532, the digit 3 is in which place?

A. Tenths

B. Hundredths

C. Hundreds

D. Thousands

Answer: B

o Watch Video Solution

11. How many hundredths are there in 4 tenths?

A. 400

B.40


https://dl.doubtnut.com/l/_f8eKkQsbSviU
https://dl.doubtnut.com/l/_vrvNA3NeXJW7

Answer: B

° Watch Video Solution

12. Anusha has three pieces of ribbons. One piece is 43.75m long, another
82.6m long and the third is 63.25m long. What is the total length of the
three pieces of ribbon?

A.189.60m

B.204.40m

C.174.60m

D. 196.40m

Answer: A

° Watch Video Solution

13. The expanded form of 28.001 is


https://dl.doubtnut.com/l/_vrvNA3NeXJW7
https://dl.doubtnut.com/l/_12EO6KPp1Lzv
https://dl.doubtnut.com/l/_YanpEG1zXfEV

Answer: B

° Watch Video Solution

14. Which statement is true ?

A.5.69 < 5.6

B.10.61 > 10.602

C.11.112 < 2.112

D.12.55 > 12.555

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YanpEG1zXfEV
https://dl.doubtnut.com/l/_d1MHKKT1DQEK

1
15. 22—5 expressed as a decimal is

A.1.25
B.24
C.25

D. 2.04

Answer: D

° Watch Video Solution

3
16. Which decimal number is greater than 7 ?

A. 0.85
B.0.5

C.0.69


https://dl.doubtnut.com/l/_d1MHKKT1DQEK
https://dl.doubtnut.com/l/_yV2AANCOlEB9
https://dl.doubtnut.com/l/_9hc9IiA4xjzH

D.0.75

Answer: A

° Watch Video Solution

17. The place value of '7'in 32.507 is

A. 7 hundredths

B. 7 tenths

C. 7 thousandths

D. 7 thousands

Answer: C

° Watch Video Solution

18. The value of (1 + 0.1 + 0.01 + 0.001) is



https://dl.doubtnut.com/l/_9hc9IiA4xjzH
https://dl.doubtnut.com/l/_zjwn0nbuko1x
https://dl.doubtnut.com/l/_yXkk7RCHI3eQ

A. 1.001

B. 1.1

c.om

D.1.0M

Answer: B

o Watch Video Solution

19. A man had a hundred rupee note. He bought vegetables for Rs 26.75

and fruits for Rs 25.45. How much money he has left?

A.Rs 47.80

B.Rs 52.40

C.Rs 73.25

D.Rs 37.80

Answer: A



https://dl.doubtnut.com/l/_yXkk7RCHI3eQ
https://dl.doubtnut.com/l/_J2W7aNPbd5Oi

| ° Watch Video Solution

20.The largest among 54.32,54.35,54.23,and 5.23 is

A.54.32
B.54.23
C. 5435

D.5.23

Answer: C

° Watch Video Solution

21.43.266-24.557+34.970 is simplified as

A. 53.769

B. 53.679

C.753.679


https://dl.doubtnut.com/l/_J2W7aNPbd5Oi
https://dl.doubtnut.com/l/_9EJt3Zltm3uP
https://dl.doubtnut.com/l/_icj5YNqmEwQf

D.102.793

Answer: B

° Watch Video Solution

22. What is the sum of 6mm, 60m and 60 cm?

A. 6600.6cm

B. 6000.6cm

C. 6060.6cm

D. 6666cm

Answer: C

o Watch Video Solution

23. Which of the following is not equivalent to 1.670?


https://dl.doubtnut.com/l/_icj5YNqmEwQf
https://dl.doubtnut.com/l/_oRIAnxNk2rnI
https://dl.doubtnut.com/l/_LNtu2ROc1nOQ

a 167
" 100

1670
~ 1000

16.7
10

D.16.7

Answer: B

° Watch Video Solution

24.Subtracting 8 km 73m from 15km 160m, we get

A. 7.078km

B. 0.087km

C. 23.233km

D. 7.087km

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_LNtu2ROc1nOQ
https://dl.doubtnut.com/l/_p2lX8OnBhRt8

25. Which of the following decimal numbers are represented by points K

and L on the given number line?

< I 1'3}1 |'|i|||'r‘:1‘:111'li 3
[ 2

i k. 1

A.0.5,1.5

B.1.5,1.5

C.0.12,0.5

D.15,25

Answer: A

° Watch Video Solution

26. Simplify the following :

43.16 4 493.28 — 507.34


https://dl.doubtnut.com/l/_p2lX8OnBhRt8
https://dl.doubtnut.com/l/_oWnJX6JZHpkQ
https://dl.doubtnut.com/l/_ytbRdjuXJX88

A.29.5

B. 291

C.417.54

D. 143.78

Answer: B

o Watch Video Solution

27.Simplify the following :

2.36 — 3.24 + 4.57

A.3.96

B.10.17

C.3.69

D.1.03

Answer: C



https://dl.doubtnut.com/l/_ytbRdjuXJX88
https://dl.doubtnut.com/l/_khNya9a26tDG

| ° Watch Video Solution

28. 5kg 3 g is expressed in kg using decimal as

A.3.005kg

B.5.003 kg

C.53 kg

D. 5.03 kg

Answer: B

° Watch Video Solution

29. Write the following as decimal.
200 + 10 + 5 + 0
10

A. 205.6

B. 215.06


https://dl.doubtnut.com/l/_khNya9a26tDG
https://dl.doubtnut.com/l/_LHmez4XWBSq5
https://dl.doubtnut.com/l/_N2nnEcn7CXdy

C.80.6

D. 215.6

Answer: D

o Watch Video Solution

30. Subtract 1.412 km from 3.69 km.

A. 1.728km

B. 2.278 km

C. 2.728km

D.1.278 km

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_N2nnEcn7CXdy
https://dl.doubtnut.com/l/_L7qphKUM2q9N

31. Add : 9.7,13.85,126.05 and 8.796.

A. 22.883

B. 158.396

C.1583.96

D. 228.83

Answer: B

° Watch Video Solution

8 . . .
32.60 + 6 + 0 + 100 in decimal form can be written as

A. 606.48
B. 66.048
C. 606.048

D. 66.48


https://dl.doubtnut.com/l/_hSWtAQaQGl7z
https://dl.doubtnut.com/l/_36yEYP3WbTIJ

Answer: D

° Watch Video Solution

33. The decimal form of 7 /125 is

A.0.56
B. 0.056
C.56

D. 0.0056

Answer: B

° Watch Video Solution

34.32.1068-2.009 is equal to

A.30.0978


https://dl.doubtnut.com/l/_36yEYP3WbTIJ
https://dl.doubtnut.com/l/_Z8nLAFQZpuGl
https://dl.doubtnut.com/l/_vfKrA7csAvgu

B.300.978

C.30.00978

D.30.978

Answer: A

° Watch Video Solution

35.2m is equal to

A. 0.2km

B. 0.02km

C. 0.002km

D. 0.0002km

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vfKrA7csAvgu
https://dl.doubtnut.com/l/_mpXWB9yvniCv

Exercise Multiple Choice Questions Level 2

1. Which of the following set of decimals are arranged in ascending order

?

A. 2.910,2.019,2.109,2.119

B. 2.910,2.119,2.109,2.019

C. 2.019,2.109,2.119,2.910

D. 2.119,2.109,2.019,2.910

Answer: C

° Watch Video Solution

2. Pushkar purchased a chocolate for Rs 12.50, a pastry for Rs 5.75 and a

packet of chips for Rs 8.38. How much money did he spend in all ?

A.Rs 271


https://dl.doubtnut.com/l/_MmkHvIHNPLLv
https://dl.doubtnut.com/l/_GzuexByyIGKl

B.Rs 26.63

C.Rs 28.63

D.Rs 20

Answer: B

° Watch Video Solution

3. Select the correct match of shaded portion.



https://dl.doubtnut.com/l/_GzuexByyIGKl
https://dl.doubtnut.com/l/_qNY5NQjr75nc

Answer: D

° Watch Video Solution

4. Find the value of
(i) 17.432-12.876+82.49-51.905
(ii) 39.2186+23.543-82.432+90.625

(iii) 69.3875-37.483-28.515+38.75

A 42.645 80.1955 421395
> 35.141 80.1955 35.4325
< 42.645 70.9546 35.4325
> 35.141 70.9546 42.1395

Answer: D



https://dl.doubtnut.com/l/_qNY5NQjr75nc
https://dl.doubtnut.com/l/_MHe56IIng1NS

° Watch Video Solution

5. The corner store sold 129.91 litres of milk on Thursday and 11.32 litres
more than this quantity on Friday. The following day, 18.94 litres less milk
was sold than on Friday. How many litres of milk did they sell on
Saturday?

A.160.17 litres

B.137.53 litres

C.122.29 litres

D. 99.65 litres.

Answer: C

° Watch Video Solution

6. Which of the following is the correct ?


https://dl.doubtnut.com/l/_MHe56IIng1NS
https://dl.doubtnut.com/l/_mM7QxxE2MfBo
https://dl.doubtnut.com/l/_e8bGs9eaAVSW

A 2.2 <202 <2002 < 2.222

B.2.002 < 2.02 < 2.2 < 2.222

C.2.02 < 2.22 < 2.002 < 2.222

D. None of these

Answer: B

o Watch Video Solution

7. Simplify the following :

75.3-104.645+178.96-47.9

A.95.715

B.86.475

C.101.715

D.100.475

Answer: A



https://dl.doubtnut.com/l/_e8bGs9eaAVSW
https://dl.doubtnut.com/l/_1obGskYwhJRn

| ° Watch Video Solution

8. By how much should 23.745 be increased to get 35?7

A.11.255

B. 10.215

C.1.612

D. 12155

Answer: A

° Watch Video Solution

9. What is the sum of 5cm, 50m and 50 cm?

A. 50.55m

B. 50.055m

C.55.05m


https://dl.doubtnut.com/l/_1obGskYwhJRn
https://dl.doubtnut.com/l/_M9kNUMkSNcB2
https://dl.doubtnut.com/l/_06rhRSMqVA27

D. 55.055m

Answer: A

° Watch Video Solution

10. Which of the following is correct ?

A.0.088 > 0.18

B.0.4 = 0.04

C.4.72 > 4.702

D. 2.8 > 2.800

Answer: C

° Watch Video Solution

11.8 kg 70g - 0.526 kg is equal to


https://dl.doubtnut.com/l/_06rhRSMqVA27
https://dl.doubtnut.com/l/_MZUEdeeOwMs3
https://dl.doubtnut.com/l/_m2wQnyao5sQa

A.7.544kg

B.7.455 kg

C.8kg

D.75.44g

Answer: A

° Watch Video Solution

12. The decimal for 3 hundreds + & hundredths is

A.38

B.300.8

C.300.08

D. 300.008

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_m2wQnyao5sQa
https://dl.doubtnut.com/l/_a6D3AFNpbY25

13. Mr Sharma spend Rs 1287.90 on clothings, Rs 389.96 on travelling and

Rs 1280.71 for hotel accomodation . If he has Rs 5800 left with him, how

much money did he have in the beginning ?

A.Rs 5875.75

B. Rs 8758.57

C. Rs 7858.58

D. Rs 8578.57

Answer: B

° Watch Video Solution

14. A mountaineer climbs 6732 metres from the base camp situated at an
altitude of 2307.58 metres. He climbs further 75.86 metres. What altitude

does he reach after this?


https://dl.doubtnut.com/l/_a6D3AFNpbY25
https://dl.doubtnut.com/l/_v3rrtdye23vM
https://dl.doubtnut.com/l/_uNqUDBB9ZDfv

A. 2450.76,m

B. 2050.67m

C.1450.76m

D. 2105.76m

Answer: A

o Watch Video Solution

15. Mishika went to the market with Rs 4000 . She purchased one top ,
one toy and skates costing Rs 578.75, Rs 309 and Rs 1863.85 respectively.
How much money is left with her?

A.Rs 224940

B. Rs 2750.60

C.Rs 124940

D. Rs 1750.60


https://dl.doubtnut.com/l/_uNqUDBB9ZDfv
https://dl.doubtnut.com/l/_x7nrzFKfMGDe

Answer: C

° Watch Video Solution

Exercise Match The Following Level 2

1. Match the following :

List-I List-II
p 2220 1 2+ 3%
Q 202 2 2+2+ 2
R 2020 3. 20+ 2+ 2
S 20.202 4.

2 2
2JrWJrlooo

A. P-4,0-2,R-3,5-1
B. P-4,0-2,R-1,5-3
C. P-2,0-4,R-3,51

D. P-2,0-4,R-1,5-3

Answer: D

| o WMl L\ Ol ikl n


https://dl.doubtnut.com/l/_x7nrzFKfMGDe
https://dl.doubtnut.com/l/_Nm5rIiFMuJpt

L ¥Yvdalilll VIUCU JViuLivii

2. Match the following :

List-I List-II
P2 1 07
Q 3 2. 0.25

7
R & 3. 040
S+ 4 07

A. P-4,0-3,R-2,5-1

B. P-3,0-4,R-1,5-2

C.P-1,0-2,R3,54

D. P-3,0-1,R-4,5-2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Nm5rIiFMuJpt
https://dl.doubtnut.com/l/_GEF9sXoIKX4x

3. Match the following :

List-I

The snowfall during three winter months was 30.5cm, 45.25cm, and 2£
Kritika’s weight is 35 kg 75g and her sister Khushi’s weight is 27kg 98
Naresh drives 42km 35m in the morning and 25 km 7 m in the evening
Anu had Rs 218.50. She bought some ice-creams for Rs 205.75. The mc

SRR A SR

A. P-1,0-2,R-2,S-4

B. P-3,0-1,R-2,S-4

C.P-3,0-1R-4,5-2

D. P-1,0-3,R-4,5-2

Answer: C

o View Text Solution

Exercise Assertion Reason Type

1. Assertion : 0.7,0.70,0.700 are equivalent decimals.

Reason : Number of zero at the end of decimal number change the value


https://dl.doubtnut.com/l/_Nk1vJmXqlfnG
https://dl.doubtnut.com/l/_4Woo2DUMIHYu

of the number.

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

° Watch Video Solution

2. Assertion : The fraction form of 16.25 is

100

Reason : In the denominator, write 1 followed by as many zeroes as there

are decimal place in the given decimal.


https://dl.doubtnut.com/l/_4Woo2DUMIHYu
https://dl.doubtnut.com/l/_3gV81OwfZSIh

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

o Watch Video Solution

3. Assertion : The number 211.902 is expressed in expanded form as

1 1
2x1 1x1 1 — X 2 X —.
x 100 x 1 x 10 x +9><10>< xlOO

1
Reason : As we go from left to right, the multiplying factor becomes 0

of the previous factor.

A.If both assertion and reason are true and reason is the correct

explanation of assertion


https://dl.doubtnut.com/l/_3gV81OwfZSIh
https://dl.doubtnut.com/l/_tfi4qSLLRr66

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

o Watch Video Solution

4. Assertion : The sum of 27.8,175.09 and 685.7 is 888.59.
Reason : To subtract decimal numbers, we place them columnwise
correctly in the place value table and subtract them in the same way as of
whole numbers.
A.If both assertion and reason are true and reason is the correct
explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.


https://dl.doubtnut.com/l/_tfi4qSLLRr66
https://dl.doubtnut.com/l/_q7BLwe1dluS8

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

o Watch Video Solution

5. Assertion : Expressing 735 m into km, we get 735000km.

!,
1000

Reason: Tm =

A.If both assertion and reason are true and reason is the correct
explanation of assertion

B. If both assertion and reason are true but reason is not the correct
explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D



https://dl.doubtnut.com/l/_q7BLwe1dluS8
https://dl.doubtnut.com/l/_q3jJKVy2k8ob

| ° Watch Video Solution

Exercise Comprehension Type Passage |

1. To change a decimal numeral to a fraction, express the decimal as a

fraction with denominator 10,100 , 1000 and then reduce it to its lowest

term.

The sum of 67.25,5.5,9.86 in fraction form is

A 8261
" 100

a3
)

C. 207

. 820
100

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_q3jJKVy2k8ob
https://dl.doubtnut.com/l/_IFpDYxzsnsZu

2. To change a decimal numeral to a fraction, express the decimal as a
fraction with denominator 10,100 , 1000 and then reduce it to its lowest
term.

Amit bought a comic book for Rs45.60 and a magazine for Rs 70.00.
What is the total amount ( in Rs ) spent by Amit ( Express in lowest

fractional form) ?

A102
"5

156
2

518
)

1156

Answer: C

o Watch Video Solution

3. To change a decimal numeral to a fraction, express the decimal as a

fraction with denominator 10,100 , 1000 and then reduce it to its lowest


https://dl.doubtnut.com/l/_oXaw04j7UJWF
https://dl.doubtnut.com/l/_ITOQTcJzHloC

term.

Convert 19.07 kg into grams.

A.19070g

1907

B. —
10 7

C.1907 g

D. None of these

Answer: A

° Watch Video Solution

Exercise Comprehension Type Passage i

1. A squash ball weighs 34000 mg, a cricket ball weighs 45g, a basketball
weighs 0.65 kg and a football weighs 3 kg.

Which of the given sports ball is lightest in weight?

A. Cricket ball


https://dl.doubtnut.com/l/_ITOQTcJzHloC
https://dl.doubtnut.com/l/_tmeA5bPbtN0T

B. Football

C. Squash ball

D. Basketball

Answer: C

o Watch Video Solution

2. A squash ball weighs 34000 mg, a cricket ball weighs 45g, a basketball

weighs 0.65 kg and a football weighs 3 kg.

What is the total weight ( in kg ) of basketball and football?

A.0.365kg

B. 3.65kg

C.365kg

D.3 kg

Answer: B

[ - 1


https://dl.doubtnut.com/l/_tmeA5bPbtN0T
https://dl.doubtnut.com/l/_EUSdXzQGh6m4

| 0 Watch Video Solution

3. A squash ball weighs 34000 mg, a cricket ball weighs 45g, a basketball

weighs 0.65 kg and a football weighs 3 kg.

What is the total weight of all the balls (in mg ) ?

A.3729 mg

B.3.729mg

C. 3729000 mg

D.0.3729mg

Answer: C

° Watch Video Solution

Exercise Subjective Problems Very Short Answer Type

1. Write

in decimal form.

1000



https://dl.doubtnut.com/l/_EUSdXzQGh6m4
https://dl.doubtnut.com/l/_ZtYrjkDWxxQU
https://dl.doubtnut.com/l/_w7YJjaz8I5GS

o Watch Video Solution

2.0.123 or 0.125, which is greater?

o Watch Video Solution

3. What is the sum of 12.17, 7.83 and 16.22?

o Watch Video Solution

4. Express 46 rupees 87 paise as rupees using decimals.

o Watch Video Solution

5.Subtract 0.25 from 0.37.

o Watch Video Solution



https://dl.doubtnut.com/l/_w7YJjaz8I5GS
https://dl.doubtnut.com/l/_rssrqzdDmi4D
https://dl.doubtnut.com/l/_AgL5tQ0fbgCg
https://dl.doubtnut.com/l/_HZ70PS0KDlwj
https://dl.doubtnut.com/l/_qJNu4Qw6tj04
https://dl.doubtnut.com/l/_qkmaQPBHTXpi

1 1
. — — imal.
6. Express 6 x 10 + 8 X oo 2 decima

° Watch Video Solution

7.Simplify : 6 — 0.4 — 0.87.

° Watch Video Solution

1
8. Write 33 as a decimal.

° Watch Video Solution

9. Show 1.8 on the number line.

° Watch Video Solution

10. Write in order from least to the greatest : 2.1,2.105,2.011.



https://dl.doubtnut.com/l/_qkmaQPBHTXpi
https://dl.doubtnut.com/l/_uCUEYXB4aPZl
https://dl.doubtnut.com/l/_KngooTUjLFkC
https://dl.doubtnut.com/l/_0jz4SJC0SqFK
https://dl.doubtnut.com/l/_zGGLDlnATCGj

° Watch Video Solution

Exercise Subjective Problems Short Answer Type

1. Write the following numbers in the place value table and write their

number names.

(i) 18.5 (ii) 125.31

° Watch Video Solution

2. Arrange the following decimals in descending order

8.88,8.088,88.8,88.08,8.008.

o Watch Video Solution

3. Write the following decimals in expanded form.

(i) 412.607 (ii) 1243.26

| o= |


https://dl.doubtnut.com/l/_zGGLDlnATCGj
https://dl.doubtnut.com/l/_HcoT6rji5S9Z
https://dl.doubtnut.com/l/_jsl8BVbXghqP
https://dl.doubtnut.com/l/_5rx01DB9OFo5

l & Watch Video Solution J

4. Find the sum of 40 rupees 80 paise and 95 rupees 50 paise.

° Watch Video Solution

5. Ramesh and Rahul walked back to their homes by walking 3.2 km and

3.58km respectively. Who walked more distance and by how much ?

° Watch Video Solution

6. Simplify : 3.23 + 29.375 + 81.2016 + 0.3376

o Watch Video Solution

7. A man purchases an almirah for Rs 3675, gives Rs 172.50 as its cartage
and spends Rs 64.80 on its repair. How much does he spend for the

almirah?


https://dl.doubtnut.com/l/_5rx01DB9OFo5
https://dl.doubtnut.com/l/_nv1kEpvvnN58
https://dl.doubtnut.com/l/_s6szKDcLISf7
https://dl.doubtnut.com/l/_cGE7v4DB6eOt
https://dl.doubtnut.com/l/_wUV8sQDu9xPL

° Watch Video Solution

8.The height of Jyoti and Geetanjali is 1.59m and 0.94m, respectively. How

much shorter is Geetanjali than Jyoti?

° Watch Video Solution

9. Simplify : 53.5 — 34.68 + 64.75 — 28.9

° Watch Video Solution

10. From a ribbon of length 15m, two pieces of 7m and 6.5m were cut. Find

the length of remaining piece.

° Watch Video Solution

Exercise Subjective Problems Long Answer Type



https://dl.doubtnut.com/l/_wUV8sQDu9xPL
https://dl.doubtnut.com/l/_YYkEbDtvzPRS
https://dl.doubtnut.com/l/_XKnnMm5zGQOb
https://dl.doubtnut.com/l/_6r04DavpgYX2
https://dl.doubtnut.com/l/_kOgH11erVtvw

1. Rahim, Ravinder and Rohit bought 8.5 litres, 7.25 litres and 9.4 litres milk
respectively from a milk booth. How much milk did they buy in all? If there

was 30 litres of milk in both, find the quantity of milk left.

o Watch Video Solution

2. Simplify :

( 81.61- 41.4135) - ( 503.37+253)

o Watch Video Solution

3. Simplify :

91.469+39.65-57.255+14.50

o Watch Video Solution

4. Simplify :

23.667-2.55-19.205+80.432


https://dl.doubtnut.com/l/_kOgH11erVtvw
https://dl.doubtnut.com/l/_6i4TnyfCB6FM
https://dl.doubtnut.com/l/_GWfAty7ygm29
https://dl.doubtnut.com/l/_0FmH1JGxEwLw

° Watch Video Solution

5. Rajendra purchased 6 kg 25 g of fruits and 4 kg 355 g of vegetables and
put them in a bag. If this bag with these contents weighs 11 kg, find the

weight of the empty bag.

° Watch Video Solution

6. The distance between Reeta's house and her office is 14 km. She covers
10 km 65 m by scooter, 3 km 75 m by bus and the rest on foot. How much

distance does she cover by walking?

° Watch Video Solution

7. How many numbers with 2 decimal places between 2.5 and 3 contain

the digit 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_0FmH1JGxEwLw
https://dl.doubtnut.com/l/_7tUblPHtVddo
https://dl.doubtnut.com/l/_0JiD3K6RwrGB
https://dl.doubtnut.com/l/_RXVzihO1jaEA

Exercise Integer Numerical Value Type

1. What is the digit at tenths place in the sum, if we add 8.3 and 5.6 ?

° Watch Video Solution

2. What is the hundredth place digit of the decimal number 5.04 ?

° Watch Video Solution

3. What is the sum of the digits in the product of the sum and the

difference of 4.5 and 2.5?

° Watch Video Solution

4. How many grams are there in 0.008 kg?



https://dl.doubtnut.com/l/_RXVzihO1jaEA
https://dl.doubtnut.com/l/_z594ijCRSdbh
https://dl.doubtnut.com/l/_RoN2LyLfSI8s
https://dl.doubtnut.com/l/_2K6pJ2X1afaq
https://dl.doubtnut.com/l/_zKDbradUNQhS

| ' Vvvatlch Video solution )

5. What is the whole number part in sum of 3 + 0.4 4 0.01 + 0.001 ?

° Watch Video Solution

6. The height of Sonu is 1.25m and that of Reena is 1.3m. How much is

Reena taller than Sonu (incm) ?

° Watch Video Solution

7.Subtracting 2.5 from 8.5, what will we get ?

° Watch Video Solution

8. The numerator of frational form of decimal number 0.05, if expressed in

lowest term, is

| ° Wiak A \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_zKDbradUNQhS
https://dl.doubtnut.com/l/_VfYh0ELcZufk
https://dl.doubtnut.com/l/_MY1NEMZByXAr
https://dl.doubtnut.com/l/_dOvyIFv3Klu3
https://dl.doubtnut.com/l/_dQwGDtGrZXWO

| § AAK-LAMI R IR AL AV A®LiYILALYIN]

9. What is the tenths place digit in the sum, if we add 13.5 and 1.57?

° Watch Video Solution

10. What is the value of P, if 0.04 = 2—135 ?

° Watch Video Solution

Olympiad Hots Corner

1. The simplification of

2.002 + 7.9 + {2.8 — 6.3 + (3.6 — 1.5) + 15.6} gives
A.2.002
B. 4.2845

C.40.843


https://dl.doubtnut.com/l/_dQwGDtGrZXWO
https://dl.doubtnut.com/l/_F94o8typaRDQ
https://dl.doubtnut.com/l/_Ynb13tvVSntd
https://dl.doubtnut.com/l/_5iKmYlR5Bprg

D. 24102

Answer: D

° Watch Video Solution

2. Kiara weighs 34.5 kg. Her uncle weighs 69 kg more than Kiara's weight.

What is their total weight?

° Watch Video Solution

3. Garima was shopping for a new hand bag. The one she wanted to buy
cost Rs 428.98. The sales person informed her that the same hand bag
would be on sale in the following week for Rs 399.99. How much money

would she save by waiting until the hand bag went on sale?

A.Rs 28.99

B. Rs 29.01


https://dl.doubtnut.com/l/_5iKmYlR5Bprg
https://dl.doubtnut.com/l/_Jz6ZYNPh3t26
https://dl.doubtnut.com/l/_ru2Tq31e3IZM

C.Rs 128.99

D. Rs 39.09

Answer: A

° Watch Video Solution

4. A drum has 705 litres of oil. Two containers of capacity 135.75 litres and
253.50 litres are filled with oil from the drum. Find the quantity of oil left
in the drum.

A. 720 litres

B. 300 litres

C. 215.75 litres

D. 315.75 litres

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ru2Tq31e3IZM
https://dl.doubtnut.com/l/_koejMwm1rgCm

5.Read the statements carefully and state T for true and F for false.
l. The place value of a digit at tenths place is 0.1 times the place value of

same digit at the hundredths place.
0.03 3.3

03 ooz 1101

lll. Five and seven hundredths is written as 5.07

11 I11
T T
11 111
F F
11 II1
F F
11 II1
F T F

NN g~

Answer: A

o Watch Video Solution

6. Simplify the given expression :

54 0.6 + 0.03 + 0.004 + (9 x 100) + (2 x 10)


https://dl.doubtnut.com/l/_koejMwm1rgCm
https://dl.doubtnut.com/l/_K3h3kyRCDG2s
https://dl.doubtnut.com/l/_7FsGat9bAuCZ

A. 529.364

B. 259.634

C.925.634

D. 925436

Answer: C

o Watch Video Solution

7.Compare and fill in the box with <, > or=.

18.8 31 735162 47 31

C. <

D. Can't be determined

Answer: B



https://dl.doubtnut.com/l/_7FsGat9bAuCZ
https://dl.doubtnut.com/l/_rUWsNhLQTWyl

| o Watch Video Solution

8. Select the correct match.

A. Twelve and thirty nine thousandths-12.420

B. Four and forth hundredths -4.004

C. Sixteen and two tenths - 16.2

D. Eight and five hundredths -80.50

Answer: C

o Watch Video Solution

9. A line segment measuring 28.254cm is divided into three parts. If
lengths of two line segments are 11.678 cm and 7.158 c¢m, then find the

measure of third part.

A.4112cm


https://dl.doubtnut.com/l/_rUWsNhLQTWyl
https://dl.doubtnut.com/l/_8buZ2aB3vH0x
https://dl.doubtnut.com/l/_vRgVO1DsQZMy

B. 5.646cm

C.9.264cm

D.9.418cm

Answer: D

° Watch Video Solution

10. Arrange the following numbers in descending order.

0.9898,0.8899,0.9889,0.8989

A. 0.9898,0.9889,0.8989,0.8899

B. 0.8899,0.8989,0.9898,0.9889

C. 0.8899,0.8989,0.9889,0.9898

D. 0.8989,0.8899,0.9889,0.9898

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vRgVO1DsQZMy
https://dl.doubtnut.com/l/_3o5tWMRGn6j0

11. If the sum of two numbers is 15.96 and one number is 3.58 , find the

other number.

A.12.38

B.19.54

C.13.82

D.15.94

Answer: A

° Watch Video Solution

12. Find the fraction, if its decimal value is 0.6 and denominator is 75

A 35
75

5 &
- 75

c 65
75


https://dl.doubtnut.com/l/_3o5tWMRGn6j0
https://dl.doubtnut.com/l/_Lky7XJfLrhRq
https://dl.doubtnut.com/l/_3uCPG6L9SGfG

85
75

Answer: B

° Watch Video Solution

13. Find the value of circles P,Q and R respectively, such that the sum of
the numbers in two quadrilaterals equals to the value of the circle in

between them.

A
; 3.0649 ™,
+0699\[ p 0.93 048
-~ - —':l".‘- T
¥ ' ‘*
L Q R )
Iﬂh,_ ,.a'"-

A. 2.676,8.064,9.742


https://dl.doubtnut.com/l/_3uCPG6L9SGfG
https://dl.doubtnut.com/l/_ptS3XjBcECTY

B.7334,6.442,2.332

C.9.742,2.676,8.064

D. 8.064,9.742,8.999

Answer: A

o Watch Video Solution

14. Chinmay purchased 10kg rice for Rs 150, 15kg 40g sugar for Rs 300.80

and 5 kg 60g salt for Rs 45.54. He gave Rs 1000 to the shopkeeper. How

much money did he get back?

A.Rs 234.94

B. Rs 503.66

C.Rs 496.34

D.Rs 743.99

Answer: B

[ - 1


https://dl.doubtnut.com/l/_ptS3XjBcECTY
https://dl.doubtnut.com/l/_riry5CioSZjp

| @J Watch Video Solution J

15. In which of the following figures does the shaded part represents 0.3 ?

A.

B.

C.

PO
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_riry5CioSZjp
https://dl.doubtnut.com/l/_0PD4AuGv7cuZ

16. A courier man covers 35m distance to deliver a product to the

customer. He travels 0.028km by bicycle and the rest on foot. What

distance does he cover on foot ?

A.5m

B.7m

C.8m

D.10m

Answer: B

o Watch Video Solution

17. The difference between place values of digit 5 in 456385 is

o Watch Video Solution



https://dl.doubtnut.com/l/_0PD4AuGv7cuZ
https://dl.doubtnut.com/l/_wPI4eGtFAowO
https://dl.doubtnut.com/l/_yWgmIkrJ7eyG
https://dl.doubtnut.com/l/_1Tkkagwp21O3

18. Sanya bought two similar pens for Rs 13.60 each and a notebook for Rs

46.35. She gave the cashier a Rs 100 note. How much did she get back?

A.Rs 26.45

B.Rs 26.76

C.Rs 25.87

D.Rs 28.46

Answer: A

o Watch Video Solution

19. The distance between city A and city B is 217.352 km. A man travelling
from city A to city B covers a distance of 108178 km. How much more
distance he has to cover?

A.111.226km

B.109.174 km


https://dl.doubtnut.com/l/_1Tkkagwp21O3
https://dl.doubtnut.com/l/_E8zyGsSaJrNW

C.109.147 km

D. 325.53km

Answer: B

° Watch Video Solution

20. Beena bought 12 kg of sugar. After filling 11 containers of the same

size, she had 3.2 kg left. How much sugar was there is 11 containers?

A.0.5 kg

B.0.6 kg

C.0.7 kg

D.88 kg

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_E8zyGsSaJrNW
https://dl.doubtnut.com/l/_jPBZmDYUQ6MF

